DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

Name:
CHALLENGE
Time: Score: y—
1 0.0216 + (—0.03) = 556)  —24.606 + 0.6 =
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895.9 + (—10) =
6.96 + 4 =
—35.112+ 1.2 =
~16.536 + 0.04 =
~29.05 + 0.01 =
—287.97 + (—0.03) =
18.375 =+ 0.003 =
039.36 = (—1.2) =
~1569.6 + 8 =
3441.9 + 11 =
0.11283 = (—0.001) =
—432.4 + (—0.4) =
196.77 + 0.7 =

9.864 = 0.01 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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—81.78 + (—0.1) =
—10.674 + 0.003 =
505.1 + 0.1 =
~2006.4 + 11 =
0.09339 = (—0.001) =
~11.274 + (—0.03) =
0.25032 + (—0.003) =
44.97 <+ (—0.03) =
0.8782 + (—0.01) =
204.84 =+ (—0.07) =
~506.03 + 0.7 =
331.80 + 0.3 =
—0.10157 <+ 0.007 =

43.14 +0.01 =
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